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A & 0l & AF 2 E A A
20178 =0 SRMa2e &
S RECI ()
A MAROl Thae
e SR (SHe2E]) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=)y 9,309,683 175,712,282 A 166,402,599
< 6,000
Al 9,303,683
MMAFE Ol TH At 2tel 9,309,683 106,712,282 A97,402,599
< 6,000
Al 9,303,683
SRS (2RI 22]) 9,309,683 106,712,282 A 97,402,599
< 6,000
Al 9,303,683
SH M SA2el 1,481,948 10,813,908 A 9,331,960
< 6,000
Al 1,475,948
201 2et24d] 549,148 540,908 8,240
01 At 22l 534,148 531,908 2,240
OZ2®sMetzte] =4l 527,908,000 527,908
O= 2| 4,000,000& 4,000
OZSMAAls slolas +g
70,0003 x4 X »83] 2,240
02 2524l 15,000 9,000 6,000
OMat2te| X g = Al2 2l 3,000,000& 3,000
O2FML B33 1,000,000& »12& 12,000
202 044l 18,000 58,000 A 40,000
< 6,000
Al 12,000
01 = LH &4 1l 18,000 18,000 0
OZxrMet2te] 2= 0l
20,0003 x5 10 x12& 12,000
< 6,000
Al 6,000
Oz Met2el X0z ¢l
150, 000& 20 *23| 6,000
203 YR =&l 4,800 5,000 A 200
03 AIBF=XH S =ZH| 4,800 5,000 A 200
OZxrMet2te] AIHFX 4,800,000 4,800
401 AIEHIZL 20 910,000 10,210,000 29,300,000
01 A& Hl 910,000 10,210,000 29,300,000
OMNZESE BFSNME PEFUNE 2X W
s 700,000,000& 700,000
OZ2® ML WEXHZ 10,000, 000& 10,000
O3 Me FA2eltl 200,000, 000& 200,000
ol gl Bl 2,366,746 95,898,374 A 93,531,628
801 Gl BI8I 2,366,746 95,898,374 A 93,531,628
01 L Etoil gl Bl 2,366,746 95,898,374 A 93,531,628




S RECI ()
A MAROl Thae
el ZRMAT (BRWLBL) (crel @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oaolgltl 2,366,746,000& 2,366,746
dEs FULMH M= 4,766,766 0 4,766,766
401 A& HIZ 2018 4,766,766 0 4,766,766
01 A& HI 4,584,000 0 4,584,000
Ot Es F0HH &= 4,584,000,000& 4,584,000
02 Zeltl 169,814 0 169,814
ONEES FOME ME
4,797,000,000& *3.54% 169,814
03 Al 2 THHI 12,952 0 12,952
OMEES FOME ME
4,797,000,000& *0.27% 12,952
20IS0tY W2 S A 488,000 0 488,000
401 AIEHIZL 2 CHEI 488,000 0 488,000
01 A& Bl 488,000 0 488,000
OR0IH=S0tE HWAEZ3A 488,000,000 488,000
a2 &5 2AM 49,823 0 49,823
401 A& HI K 201 I 49,823 0 49,823
01 A& HI 49,823 0 49,823
Ou==28 S5 M 49,823,000 49,823
A=3s FAE HHISA 31,000 0 31,000
401 Al HIZ 2018 31,000 0 31,000
01 A& HI 31,000 0 31,000
OY9=33 =& JHISAM 31,000,000& 31,000
T4 S 2 I SAM 125,400 0 125,400
401 AIEHI L 2 CHYI 125,400 0 125,400
01 A& HI 125,400 0 125,400
OB4s 242+ & DA
374,550 x334.8m’ 125,400
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02 Zeltl
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3,300,000,000&
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20178 & 20

CEAEHY
CEASNAE

DA AME ST AY

& SR a2l &

0B

Ol &t

el)

x = - 4 14
SN EE B (BH) - HRAY - BES e Hl D= 2t
SX &M ,947,540 3,947,540
Xl 475,000
Al , 472,540
FHEXAE ,947,540 3,947,540
Xl 475,000
Al , 472,540
NAANSSXNAE L (SRR ,947,540 3,947,540
Xl 475,000
Al , 472,540
a2 ,947,540 3,947,540
X 475,000
Al , 472,540
401 AIEHI ,947,540 3,947,540
Xl 475,000
Al , 472,540
01 A& HI , 175,000 3,175,000
OuS=x ARBA AL
3,175,000, 000& , 175,000
Xl 475,000
Al ,700,000
02 Zeltl 760,000 760,000
OMS=XIZatdE HE S A 2eltl
760,000,000& 760,000
03 A2 2 0HHI 12,540 12,540
oass S A AIE RO
12,540,000& 12,540




N = 0l & At & Ml A

20179 20& SKRMa2E] &X

ARG RS~
X

M FAE dFUe dUsE BB XA
ol HAWUES 0He 2R (SRMa ) (Sl & &)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HeEEAED 1,111,000 0 1,111,000
Xl 578,000
Al 533,000
Fad A5 Alts #E XY 1,111,000 0 1,111,000
Xl 578,000
Al 533,000
Hidgs oot AE(S|MAL) 1,111,000 0 1,111,000
Xl 578,000
Al 533,000
SEHALAMEAESEZ HE (HAEHANLEES) 1,111,000 0 1,111,000
Xl 578,000
Al 533,000
401 AIEHI L 2 CHYI 1,111,000 0 1,111,000
Xl 578,000
Al 533,000
01 A& HI 1,111,000 0 1,111,000
ORFANAAEAESB 2R
1,111,000, 000& 1,111,000
Xl 578,000
Al 533,000




N = 0l & At & Ml A

20178 =0 SRMa2e &

SH: ACATED
HE: ZAB ZER0 FEALY

X
SRl EINZX BAS IS DA ZER0 FUAS(BRMABL) CERED

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
X2 513,213 0 513,213
SAL2 ZERO =AY X 513,213 0 513,213
F=HEX SaS A8 SAIZ ZER0 FEAIL (S 3 M A 513,213 0 513,213
22al)
ZERO =& ALY 513,213 0 513,213
401 Al HI & 28I 513,213 0 513,213
01 A& HI 510,000 0 510,000
O2SHO0IIE el2dd S At 510,000,000& 510,000
03 AIE 2 0H bl 3,213 0 3,213
O240tLE 224 d A
510,000,000& *0.63% 3,213
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A & 0l & AF 2 E A A
20178 =0 SRMa2e &
PN HEX D
¥ 52X0 WHEINO 2
Sl BRRo sM=X SX(TRMLRL) SERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
™ Xl Dt 3,821,885 3,821,885
SEX HFXHO 2F 3,821,885 3,821,885
SR FMHEX S (SFMHL2L) 3,821,885 3,821,885
AMEAHEIO0IE B85 3,821,885 3,821,885
401 Al HIZ 2018 3,721,885 3,721,885
01 A& HI 3,658,950 3,658,950
ORFANE HE0H &= ZAtdl
3,658,950, 000& 3,658,950
02 2eltl 53,055 53,055
ORFANE HE0E &= SA Zaldl
3,658,950,000& *1.45% 53,055
03 Al 2 THHI 9,880 9,880
FEAE HE0E &= SA 20l
3,658,950,000& *0.27% 9,880
402 BIZEXtE0| A 100,000 100,000
03 QI 2HCH & AF S HI 100,000 100,000
ORFAE H0old JINM, M2 2|
100,000, 000& 100,000




N = 0l & At & Ml A

20178 =0 SRMa2e &
M DSALED
g =4 datd unsMA 2=
Sel DYEXE AL (TRUMBE) (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
WS A& Dt 5,000,000 0 5,000,000
=M Xstd NSHAH A= 5,000,000 0 5,000,000
SEFIUE HE(SFMHL ) 5,000,000 0 5,000,000
dEYE ZHFINE LMY 5,000,000 0 5,000,000
401 Al HIZ 2018 5,000,000 0 5,000,000
01 A& HI 5,000,000 0 5,000,000
ORAY BYZHEY ZHAL
5,000,000, 000& 5,000,000




20174

2N
X ZH -
L= B
el

t

0K OH OH

N & O &

=0a ZRWABE M
AXH ]}

2 at=

2

Al

(o
SA BB (SH) - NRAY - B %@ﬁ 2t
=& i3 1,494,680 1,494,680
= S 190,000 190,000

Ze (2 THar2el) 190,000 190,000
20018 H=R EX 0L 190,000 190,000
401 AlEHIZL 2 0HY| 190,000 190,000
01 Al& H| 190,000 190,000
OZ0IEH2) EXHYHI(H=S 128-52 S
42 X)) 190,000,000 190,000
Y =3 422 4 1,304,680 1,304,680
2 23 HME(2SMarzel) 1,304,680 1,304,680
AMEIER 29 1,304,680 1,304,680
1 AIEHIZ 20| 1,304,680 1,304,680
01 Al&H| 1,300,000 1,300,000
ONMETR (22 A) 2128
1,300,000,000& 1,300,000
03 AlE 201 Y| 4,680 4,680
ONHMETR (229 L) 2128
1,300,000, 000& *0 . 36% 4,680




20179 20& SKRMa2E] &X

& AR S & A

AEEAB
TAHB QTP =
SAHE AY(BRMLBE) SR CED
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e 52
= 2t 597,204 597,204
Xl 320,000
Al 277,204
elmet 5 597,204 597,204
Xl 320,000
Al 277,204
2 HE (2R 22) 597,204 597,204
Xl 320,000
Al 277,204
Fo M2 A 320,000 320,000
Xl 320,000
401 AIEHI L 2 CHYI 320,000 320,000
Xl 320,000
01 A& HI 320,000 320,000
O M 2I2e8d 320,000, 000& 320,000
X 320,000
asEN2 SECHHNAT =4 277,204 277,204
401 Al HI K 201 I 277,204 277,204
01 A& Bl 275,501 275,501
O&AEAH E9HI 11,116,000& 11,116
Ocl2gd S Atdl 264,385,000 264,385
03 Al 2 THHI 1,703 1,703
Ocl2dd A4 20l 1,703,000& 1,703
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SA: ADEHB
Hu: TN O

Eelr S AE(3

N & O &

H
1l
2
>
1[5}
10
=
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i
o]
ol
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o

Al

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
A0l M2 ,440,888 2,440,888
Xl 500,000
Al ,940,888
SAE oZe RH ,440,888 2,440,888
Xl 500,000
Al ,940,888
S HE (2SS =2) ,440,888 2,440,888
Xl 500,000
Al ,940,888
A2 A ,440,888 2,440,888
Xl 500,000
Al ,940,888
401 AIEHI L 2 CHYI ,440,888 2,440,888
Xl 500,000
Al ,940,888
01 A& HI , 379,400 2,379,400
AT A2 HS 3 A 2,030,000, 000& ,030,000
X 500,000
Al ,530,000
OAZCHZ A2 HeRARSD
349,400,000 349,400
02 Zeltl 49,728 49,728
OA=C M2 HE S A 22l
3,360,000,000& 1.48% 49,728
03 Al 2 THHI 11,760 11,760
OG=C N2 HE I3 A AIER0UHI
3,360,000,000& *0.35% 11,760




